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_ i FORMULA

B #R| NEh | K % R B Bl | B2 | B3 | &% — Teecalin
47 1 |#EZE T8 |K's GYMI&R 45 | 50 [x52.5] 50 ||1.3720]|68.600| 6
kgik| 2 [FHLwz=Xx |MY JUCKS 37.5| 40 |x42.5| 40 ||1.4478|57.910| 9
52 1 |&IBEF |K's GYMIER 525| 55 | 60 | 60 ||1.2607|75.639| 3
kgfk| 2 |RIR=E |[EA 35 |x37.5|x37.5| 35 ||1.3285|46.498 | 12
57 1 |Z&#F7  |K's GYMI&R 67.5| 70 | 72.5| 72.5]|1.1959 | 86.699
kgfk| 2 [*Ad=Es MY JUCKS x55 | 55 | 57.5| 57.5[]1.2239]70.374

3 |¥EFHRF |MY JUCKS 55 |x57.5|x57.5| 55 ||1.1660 | 64.130

4 NS EFT |[EA 42,5 | x45 | 45 | 45 ||1.2080 | 54.358 | 10

5 |@EABExE |[EA 45 |x47.5|x47.5| 45 ||1.1824]53.208| 11
+57] 1 BOAE [K's GYMi&R 80 | x85 | 85 | 85 ||0.9905|84.193
kgik| 2 |[&# & |MY JUCKS 55 | 57.5| 60 | 60 ||1.0805 | 64.830

3 |BER BT |MY JUCKS 37.5| 40 |x42.5| 40 ||1.0994|43.976| 13

4 |BWEA  |MY JUCKS 32.5| 35 | 37.5| 37.5||1.0980 | 41.175 | 14
M 1 |HREF |K's GYMI&BER 60 | 65 | 67.5|67.5||1.0851|73.244| 4
kgihk
5 F

_ i FORMULA

B #R| NEhI | K % R B B1 B2 | B3 | & & yreTa ETre e
59 1 |IE#E  |rRO>SF-RU— 125 | 130 [x132.5| 130 |[0.8703 [113.139| 4
kgfl| 2 |& X |K's GYMi#ER 115 | 120 |122.5|122.5]|0.8675 |106.269 | 11

3 |EE B |WERE/ND—035T x120 | x120 | 120 | 120 | |0.8745 |104.940 | 15

4 |BERZE |[HERHEP x110 | 110 [112.5]112.5]| |0.8738 | 98.303 | 24

5 |EH & |[@EA 105 [x112.5[x112.5] 105 ||0.8717 | 91.529 | 30

6 £ B [RAR-vE 55— 90 | 100 |102.5|102.5]|0.8867 | 90.882 | 31

7 e & |BEAR-vtEIS-— 90 | 95 | 97.5]| 97.5||0.8867 | 86.448 | 38

8 |t pEE (BR) R=BMEFR 97.5 | x100 | x100 | 97.5 | |0.8838 | 86.166 | 39

9 |BaK th (BR) R=BMEFR 85 | 87.5| x90 | 87.5]|0.9668 | 84.591 | 41

10 |BEE— |BAR—Ytz> 59— 60 | 625| 65 | 65 ||1.0232|66.508 | 59

11 |FE 8 S IACIIN ;- 1= 60 | 62.5| x65 | 62.5|]0.8964 | 56.025 | 66

Kig |BEA st [/ \ARAR—YOSTERE| x110 | x110 | x110 0.000

k1% ||l s [K's GYMEEER x90 | x100 | x100 0.000

OP |EBIIEZE |[BA 80 |[825| 85 | 85 ||0.8994

OP |z 2= A x90 | x90 | x90

Rig |iEE g |[EA 0 0 0 0.000




FORMULA

Mg | B | K % B B1 B2 B3 | & #&% yETaN Frrerey

66 1 |=EB—E |R2/(X FRILE 140 | 150 | 155 | 155 ||0.8100 |125.550 | 2

kgik| 2 |K%F B |K's GYMi&R 132.5|137.5|x142.5137.5| |0.8020 |110.268 | 5
3 [EIN#E @A 125 | 130 | x135] 130 | |0.8111 |105.443| 14
4 |#A B |BhLOS5TEo>5%A | x125|x125| 125 | 125 |]0.7932 | 99.150 | 20
5 |SAtsnBE [EEE/ND-—0350 110 |117.5|122.5|122.5| |0.7872 | 96.432 | 28
6 |FEH- [BIR-—YtE 55— 110 | 115 |x117.5| 115 ||0.7852|90.298 | 32
7 |la#F & [EA 110 | x115| x115| 110 ||0.8206 | 90.266 | 33
8 |tkEaKktER [BRR—VE>5H— 90 | 100 | 105 | 105 ||0.7852 | 82.446 | 44
9 |muEE HiE  |[TETSUBEYA 90 | 92.5|97.5]|97.5]|0.7932|77.337 | 50
10 AR & |[XHORMWE 85 | 90 | x95 | 90 ||0.8166 | 73.494 | 55
11 |KME 47HP () R=RUEFR 80 | x85 | 85 | 85 ||0.8390|71.315| 57
12 |k BA  [BANLOSTE>BwA | x80 | 80 X 80 ||0.7857|62.856 | 63
13 | B |[shLoSTIEzo5vA | 70 | 75 | x80 | 75 |]0.8372]62.790 | 64
OP |#&A %= F-T GYM 110 | 115 | 120 | 120 |]0.8004
Xig |Hb Bz |K's GYMI&ER 0 0 0 0.000
OP |\t 8 [|FZY<hL—=>40557] 0 0 0

74 1 |&E 8% |[wmRDO>AF-XU— 140 | 150 | x155] 150 | |0.7326 |109.890

kgfk| 2 | #fE  |K's GYMIER 145 | 150 | x155| 150 |]0.7242 [108.630
3 |&E4 #EO|BHLOSTE>BRA |142.5| 150 [x152.5| 150 ||0.7228 |108.420 | 10
4 |WEEEI Bl oS5TE>5%A | 125 [132.5| x135]132.5|[0.7449 | 98.699 | 22
5 |HEL = () R=RUEFR 127.5| 130 |x132.5| 130 ||0.7540 | 98.014 | 25
6 MM HHE  |RAR-vEIy— 125 | 130 [x132.5| 130 ||0.7498 |97.474 | 26
7 |MBGHIE |RAR—YEIH— 122.5| 125 |127.5|127.5||0.7264 | 92.616 | 29
8 |KEEa [BRR-—vtE>s— x120| 120 | x125| 120 ||0.7239|86.862 | 37
9 |XMr#m |[EA 100 | 110 | 115 | 115 ||0.7474 | 85.945 | 40
10 |E&/IIBER RS/ (ELE 100 | 105 |107.5|107.5|0.7569 | 81.367 | 47
11 |85 8 [BRR—vte>s— 100 |107.5| x110|107.5| |0.7200 | 77.400 | 49
12 |BEpsE— |RAR—-vEI s — 95 | 100 |x102.5| 100 ||0.7561 | 75.610 | 52
13 O 8z |[gAR-vtE s— 90 | x95 | x95 | 90 ||0.7557 | 68.009 | 58
14 PRE X  |TETSUBEYA 80 | 90 |[x97.5] 90 ||0.7235|65.115| 62
A% KIBEE—ER |F—AINQ ({v$1) ® |x127.5[x127.5|x127.5 0.000
e BA x92.5|x92.5| x925. 0.000
&1 18R BA |BibLOUSTJEo>BrA | x100 | x100 | x100 0.000
OP |FI 3 %= [EE&/(X LT/ x100 | 100 [107.5]107.5||0.7394
OP |@Eth &M [BEH/(X LT/H x90 | x95 | x95
Xig |#2@ kB [MEA 0 0 0 0.000
xig |RBN&EE |[#EEHE 0 0 0 0.000
Xip |FE EA  |[HERE 0 0 0 0.000
OP |AXMHA & |[FUThL—=2055T] 0 0 0




FORMULA

Mg | B | K % B B1 B2 B3 | & #&% yETaN Frrerey
83 1 |EBIERE |K's GYMiER 180 |187.5| x200 | 187.5] |0.6699 |125.606 | 1
kgtl| 2 |MREREXBER (L O5TFo>5%A [152.5(x157.5(x157.5] 152.5] |0.6694 [102.084 | 17
3 |#LE #  |MY JUCKS 145 | x150 | 150 | 150 ||0.6759 |101.385| 18
4 |BNEE | HHDr>H—F>3F)L| 135 | 140 | x145| 140 | |0.7026 | 98.364 | 23
5 |EAES  |K's GYM#ER 110 | 120 | 130 | 130 ||0.6790 | 88.270 | 34
6 |EKkHBA [BRR-VE>H-— 120 | 125 | 130 | 130 ||0.6739|87.607 | 36
7 |WLWEEFEFE  [BAR—-YE25— 115 | 125 [x132.5| 125 ||0.6689 | 83.613 | 43
8 |¥&F]\ [BRR-vtE - 110 | 120 |x122.5| 120 ||0.6835|82.020 | 45
9 |BEE &N |[hLUSTIEo>5vA | 100 | 110 | 120 | 120 |]0.6678 | 80.130 | 48
OP |ZmEAlfe  [EE&/(R LR 110 | 120 | x130]| 120 | ]o.6860
Rig |BEA fraE D2IZACIN 7= 0 0 0.000
Xig |28 AliT |[J—ILRSA Pl o 0 0.000
Rz |HRH &= (#%) R=2UFFR 0 0 0.000
93 1 |EEE  |K's GYMIER 167.5|172.5| x180 | 172.5| |0.6313 | 108.899
kg#k| 2 |#F®E AN |TETSUBEYA x160 | 165 | x170| 165 ||0.6606 |108.999
3 KB |eeERT-L2R—vo57|157.5|162.5|x167.5| 162.5] |0.6497 | 105.576 | 13
4 [EH&EZE |5/ (X LTH 155 | 160 | x165| 160 ||0.6404 |102.464 | 16
5 |BmE B |EEE - BTHEBE 150 | x160 | 160 | 160 ||0.6328 |101.248 | 19
6 |MmA H |K's GYM#ER 145 | 155 | x165| 155 ||0.6285|97.418 | 27
7 |HE®RE  [BR-YEI5— 110 | 115 | 120 | 120 ||o.6368 | 76.416 | 51
8 |FERE=- |[F=2/(X HLHA 100 | 110 | 115 | 115 ||0.6560 | 75.434 | 53
9 I £ [RR-YE>5— 110 | 115 | x120| 115 ||0.6412 | 73.732 | 54
+93] 1 |BlEz |[ExIeEZ 190 | 200 | 205 | 205 | |0.5827 |119.443| 3
kgik| 2 [WB XK |K's GYMiER 165 | 170 | x175| 170 ||0.6231 |105.919| 12
3 |EE# & |®2/(X HLUH 155 | 160 |x162.5| 160 ||0.6171]98.728 | 21
4 |[HABRERN |IXI7Fa7 135 | 140 | 145 | 145 | |0.5614 | 81.403 | 46
5 |FEEGEE  |K's GYMiER 85 | 90 |x100| 90 ||0.5776|51.984 | 67
M 1 |B@E @ |ERE - ETEEBE 150 | x160 | 160 | 160 ||0.6328 |101.248 | 19
kgi| 2 BB & [BHhLUSTE>5vA | x125|x125| 125 | 125 |[0.7932 ] 99.150 | 20
3 |HL =i (Bk) m=BEFR 127.5| 130 |x132.5| 130 ||0.7540 | 98.014 | 25
4 |EE FHE |RAR-YE>H— 125 | 130 [x132.5| 130 ||0.7498 | 97.474 | 26
5 MEH B |RAUR-vtEI 45— 90 | 100 |102.5|102.5f|0.8867 | 90.882 | 31
6 |Fw:FE= [BRR-YE>5— 115 | x120 | x120| 115 ||0.7634 | 87.791 | 35
7 | &E [EA 100 | 110 | 115 | 115 ||0.7474 | 85.945 | 40
8 |4 FIE  |TETSUBEYA x105| 105 [x107.5| 105 ||0.7993 | 83.927 | 42
10 |2 ®E |[BRR-vE>s— 110 | 115 | 120 | 120 ||o.6368 | 76.416 | 51
11 | 5E— [ RRR—YE>s— 95 | 100 |x102.5| 100 ||0.7561 | 75.610 | 52
12 |EAX =i |E2/(X HLUE 90 | x100 | x100| 90 ||0.8062|72.558 | 56
13 |FBWwiE= |FEsdF+= x85 | x85 | 85 | 85 ||0.7734|65.735| 60




FORMULA

B iR ER | K & i B B1 B2 B3 | & &% 5 T rEe e
14 |&H IE fMzAB~L——2TZ 4] 80 85 ([x87.5] 85 0.7697 1 65.420 | 61
15 |FE &+ TETSUBEYA xX75 75 |[x77.5] 75 0.7544 1 56.580 | 65
Rz |BK —EB IFSRR-VOSTRETS—H| 0 0 0 0.000

B BE KIE EPN 65 x70 | 72.5| 72.51]0.0000 | 0.000

kgik

LE%2MH| OP |EAAXR XM 0] x150| 150 | x180] 150 | |0.0000

LAZS| OP |IEH mkED 0] 50 55 [ x62.5] 55 0.0000

LAZS| OP |IBH &k o] 70 80 90 90 0.0000

LE%=M| OP |BIG %8 0] 60 70 X75 70 0.0000

LEZM| OP |fRiX IEfR o] 70 x80 | x80 70 0.0000
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